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 ( )
.

, 

,  ( -
) .  u(x,t); t>0, x [-1/2, 1/2]. :

u(x,t) >-1; (1)
u(0,t) > (2)

utt-uxx=0, 

. 
: u(-1/2,t)=u(1/2,t)=0; u(x,0)=u0(x);

ut(x,0)=0.  u0(x) 

u=0, 
, . 

.

 (1)
,  «

».  x 0,  u< 0,  u 0.
,

, 
supp u {(x,t);x=0, u(x,t) }. 

, ,
. 

t ( ux
2+ ut|2}= x (2utux). (3)

 « » 
:

ut(x,t-0)=-ut(x,t+0), (x,t)  supp u; u(x,t)= ; x 0.

 x=0 
.. 

u(0,t)= 1 (t [tk, k])  Rk(t),
 tk k - ; k -

 - 
k .

, 
0[u], 

 (1)  (2), ,

: 0[u]= 1[u]+ 2[u]. n-
,

1[u]=J(x) [t-tn(x)] (x; ). (4)

 J(x) – ,
tn(x) – n  « » ,

 u[x, tn(x)]  x 0; (t) -

.  - . 

 j- :

2[u]= Rj(t) (x)[ (t- tj) - (t- j)], Rj(t)= ux(-0,t) – ux(+0,t)>0,; t [tj, j], (5)

(t) – .
, , 

 – u- 0[u]=0 
 (2).

 T(E)=2 /

 - ;  – . 

 T- 



58

11, 2008

T ½

u(x,t)= (x,y; t-s) 0[u(x,t-s)]dsdy; (6)
0 -1/2

 ( ):

(x,y; t )= sin n(x+1/2)sin n(z+1/2) n(t). n =0, 1, 2,… (7)

 (4)  (5)  (6), , , 
:

½ 1

u(x,t)= J(y) (y; )  (x,y;t-  (y)]dy+ R(s)  (x,0;t-s)ds, (8)
-1/2 t

1

 (x) – .

,  J(x), (x)
 R(t), 

.
, 1

t1 .  [1].

:
1. . 
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